Task: Nonsense You Might See and Hear

Access
One to one Task 4&8

Accuracy of oral reading
Poem card

Questions / instructions:

s : N
In this activity you are going to have a go at reading a Text: Rehsense You Might Ses and Hear
nonsense poem. Nonsense poems use nonsense words If you see an ep un el .
— words that are made up so that they are fun to say and Let it have an uf et TR o R g
listen to. They let you use your imagination. This poem is If you meet an id ob ¥ 4 ;gg
one like that. You will see it has an om ag ) e
Show poem card to student. If you see a jof nug T S,

Let it have a bem dap

The nonsense words get more complicated as the poem
If you meet a fim hod

goes on. You can start at the beginning and see how many of

it proup
You will 568 it nas o

the coloured verses you can read. You don’t have to read all You will see it has a mip mub. Lo

of them — but read as many as you can. Before you read it to If you see a squeb stram fi’:‘ T:";;,;,m;m;mm
me, have a few moments to read it quietly to yourself. L& it [eve @ daen ereie NG ﬁ,:,ﬂ::",{'ﬁ’ﬁ}mm,
Allow a short period of time. If you meet a fwuit proup i st

You will see it has a sleam stroid
If you see any of those squib throsts, spluds, splims or thromps,
Tell them fo scrat!

Student reads. For if you don’t, your sharmint

| wonder if you liked the nonsense poem. will get a phurdest whorbunt

What did you think of it? Which will make your chirpust

whurdent!
I\ )

Now read as much of the poem as you can.
Try to read it slowly and clearly.

This task was designed to test decoding skills using nonsense (invented) words. Twenty-five percent of year 4 students and 60
percent of year 8 students decoded at least three-quarters of the “words” correctly.
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